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1. The image of the point (16.3) nthe &= = —=— = == xl=y-12=2-23 s
g po T ] 3 35 J

(Lo

(TaL)

(2740

{-1-6.-3)

QL The angle between the lines 2% = 3y = —z Xx=dy=—mnd 6x = —y =—dz fx=—y—Azis

A Dl
B 4545
S L
D 303
Q3. The value of k such that the line 27 = £= = 2y _41=y-1=7-k2 lies on the place

-y +tz=T Indyte=Tis

A

i

(4. The locus represented by Xy + ¥z =) xy+yr=01s

A

C

# pair of perpendicalar lines

o par of parallel Ines

1 pair of parnllel plancs



D a par of perpendicular planes

(5. The feasible region of an LPP 5 shown in the fgure . If 2 = 3x + 9y, #=3x+9, then the minimum

value of z occurs at

A 153)

B (010)
C b2m
D (1515)

Q. For the LPP; maximise = X + 4y r=x+dy subject to the constraints
x+Ay <2 x+2y 2B,y 20 xidyRatyelayed

A Zoae =4 mmand
B Zpyy = 8 zmax-f
C  Zpe = 16 rmux=146

D Has mo feasble solution

Q7. For the probability distribution given by
X =% X=xi ] [ .

. 25 5 I
PiPi =233 518 =136

the standard deviation (&) (a] s



D %omne of the above

(8. A bag contains | 7 tickets numbered from | b0 17, A ticket s draw ot random, then another ticket is
drawn ot rundom, then another ticket is drawn without replacing the first one . The probability that both the

tickets may show even numbers is
A &TH
B oil]
€ =76
D =77

Q9% A flashlight has 10 batteries out of which 4 are dead. If 3 batteries are selected without replacernent and
tested, then the probability that all 3 are dead 1s

A 130
B 1M

¢ Lus
D L

Quo.1fix+ 5/ = 10 |x+5=10 then
A x E(-155] xe-155]
B xE(-5.5] xe-53]

C xEl—=-I5Ju3 =) =el-=-15)U[5.2)



D xE[-=-15u[f=] == -150[5=)

(11, Everybody in a room shakes hands with everybody else. The otal number of handshakes is 45, The

tivtnl number of persons in the room 15

A 9

()12, The constant term in the expansion of (x° — =)  (x2-1x2)léis

A "MCyue0e
B 5C;iscT
c '""Cylece
o "Cypacio

QI3 IFP(n) ;" 2" — | P{n):"22n-1 is divisible by k forallm € N " neN" is true. then the vatue of 'k’

15

()14, The equation of the line parallel o the line 3x — 4y +2 =10 3x—4y+2=0 and passing through
(—2,3) (-29)is



A Ix-—dv+18=10 3m-ay+18-0

Ix—-dy—18=0 3x-4y-18-0

]

Ix+dy+ 1B=10 3xtdytis-0

=]

I+dy - 1B=0 3x+dy-18-

iy
QIS.If(==) =a+ib (1-il+i)9%6=a+ib then (o) is
A LB
B (LM

C ol

D (0-1)

(6. The distance between the foci of a hyperbala is 16 and its eccentricity is VIl equation is

A xP—y1=32 x242-32

Y
i et | x24—y20=1

€ ?-3y' =T -3y

D y'—x'=32 yrx2=32

(N7, The number of ways in which 5 girls ond 3 boys can be seated in a row so the no two boys are together

15
A 14040
B 14440
C 14000



Q8. If a, b, ¢ are three consecutive terms of an AP and x, y, z are three consecutive terms of a GP, then the
valieof x7¢  y** 7% P xb o ye-aza-bis

A D

A

D Does nisl exist

Q0. Letfix)=x—+ fixj=x-Ixthen (1) F(-1)is

A 0

(321, The negation of the statement "72 is divisible by 2 and 3" is
A 72isnot divisible by 2 or 72 is not divisible by 3
B 72 15 i divisthle by 2 or 72 is divissble by 3

C 72 = oot divisable by 2 and 72 15 dovistble by 3



D

QR

72 15 mot drvistble by 2 and 3

The probability of happening of an event A is 0.5 and the of Bis 0.3 1f A and B are mutually

exclusive events, then the probability of neither A nor B is

A

Q23

04

05

04

In & simultaneous throw of a pair of dice, the probability of getting a total more than 7 13

(324, If A and B are mutually exclusive events , given that P(A) = %, P{B)= l-: A5 P(BI=IS,
then P(A or B) is

0.5

LK

04

o2

Q5. Letf, g : B — R fgR—R be two fiunctions defined as f(x) = x| + & fixj={xi+x and
gx) =[xl —x¥x € R gix)=x-xvxeR Then (fog) (x) (fog) (x) for x < 0 x<0is



(26 A 1s a-set having 6 distinct elements. The number of distinct functions from A 1o A which are not

bijections is
A Bl-64-6
B 6% —fHeoo
c 6°—6lasol

D Ol

Q27.Letf: R — R f:R—R be defined by

Ix . A=

Then f{—1) + f(2) + f{4)  A-1+2+fid) is

2x ;. x>3
x2 1 l<x <3 IIxxeIxlex <3xme]

A @

¥

Q8. 1fsin ' x+cos! y==T sin-Ixtcos-1y=2a5 ,thencos ' x +sin ' y cos-Ix+sin-ly is



¢ s

D o

4, valuz of the expression lan{ =cos £ tanif 1 2eos—125) 1=
20, The valug of the expressj {:l, 2 TE} 1205125

Q. IEA = 1_} _f ] A=[2-2-22]then A" = 2*A, An=2kA, wherek =

A Il

Q3L If] li :][x]= [i] [LI-11][xy]=[24] then the values of x and y respectively are
= ¥
R
B 13
C il
D -13
gRLA=[ B¢ SOy s icosasina-sinacosa] , hen AA = AA=

—sing cosa



033, Ifx, v,z € B, x,y.zeR, then the value of determinant

={51+5-=;3 (5*-5%)* 1l

I{6* +67%) : (6" —6*) S| I S5 )2 Sx—5Fx)2 | (6x+6-x) 2 6x—6-x)2 1 Tx+T—x 12 Tx—T-x 21| is
| 2 =

[t Sl U e Tl

A D
B iz
, T |
oo

a-b b+ec a
Ih - ¢fa b ||a—hb+:'ab—:|:-'-nbc—m+bcf is
lc—a ath ¢

(334, The value of determinant

A at P 4! e
B 3abciabe
¢ a'+b+cd—3abe a3:b3cl-dabe

D &'+t +cd+3abe a3+h3+c343abe

Q35 16 (x ), vy ) (%2, ¥2) (xLvD)ix2y2) and (X3, ¥3)(x3.53) are the vertices of a trinngle whose area is
X1 ¥ 4

k" square units, then |32 Y2 4| ey lda2yM3y342 s
|K3 ¥3 41



A 32K 30
B 1647 16k
C o4k il

D 48K 4812

(36, Let A be a square matrix of order 3 = 3 33, then [5A| = 5A=

A SIA| s
B 1254 125)a)
C  25|A|2s1a
D [5A] 15l
Q3T
T -+ T T O ey . _
fix)={ % =1 1k |-k — bex<02x+ Ix—1if Dex<|

. fo=x=1

is contimuous at x =0, then the value of k is

A k=1

Q38. [feos y=x cos(a+v) cosy=x cos{oty) withcos 8 #2] cosaztl, then %d}d{ is aqual 1o

| ] i &
A mm ncosZia+y)

Ewtit

:!I' cos2{m+ yisn a

C T2 cos asind{asy)

sinin i |



o ity

D s (52 (¥ 08 8

= r vt v "I K e i
(Q39.1ff(x) = |cos x —sin[x  fix)=jcos x—sinlx, then f () Fia6) is equal to
A {149 3) —1zi143)
Bow(l+V3) 120143
€ —4(1-3) 12413

D $(1-V3) 12013

Q0. 1y =V x+V Xt Vxt...0 , y=xéxtxim, they % = dydx=

A F,+||~_|ez—|

B -,}érjzw

© Ff-szy_uz—l

i} El_TIEy—I

log, x

QL= =T ' s =l ={logexx—lAzlkix = is continuous at x = 1, then the value of k is
A

B 1

c -l

R}

(42, Approximate chonge in the volume V of o cube of side x metres caused by increasmg the side by 3% 1=

A 009 x ml o3 md



B 0.03x" m o0 xomd
¢ 006 x" m o063 m3

D 0.0dx" miomx3ma

(043, The maximum vatue of (<) (1x)x is

A ee
B e

lie

C & ele

D (1) " (1epe

Q44 f(x) =x* fix)=xx has stationary point at
A XTexr
B !l;=-l-:-lc

c x=1x

(45, The maximum ares of a rectangle inscribed in the circle
(x+ 1P +{y=3F =64 (x+1)124{y-3)2=64 is

A 64 5 units
B 72 s umis
C 128 sq unis

D 8 sqg unils

Q46 [ —dx 11 +exdx is equal to



2=

i

=]

log () + e logstexs lenpc

log (= 1)+ ¢ lopelex-lexpe

log{—==)+ € loge(exex+1je

]ﬂgcffr'l +¢ lopelenen=1kc

47, e . [13-6%-0x2dx i equanl to

A

C

I H]

v I—fix-Gy 2

L T o P

sin'{
sin (L)t sine3nelope

Lin ' (Z e 1313120

sin ! (S=k) o sl

Q48. | grox (mmxtl Jdx  Jesinx(sinx+Isecn)dx is equal 1o

(49,

Tacex
SN % e"" * + ¢ sinxcsn v
COS X. " * +¢ cosxcamzte
@ % 4 Coxin x5¢

e X jgin x+ 1)+ ¢ esinoxisin =] pc

2
IE |x cos mx|dx [-22ix cos mxidx is equal to

Ly
-8

¥

s
53
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